

Prob 6.1.13 p. 286

Using the differential Eqns

$$\frac{dP_0(t)}{dt} = -\lambda P_0(t) \quad (1)$$

$$\frac{dP_n(t)}{dt} = \lambda P_{n-1}(t) - \lambda P_n(t), \quad n = 1, 2, \dots \quad (2)$$

where all birth parameters are the same constant λ , with initial condition $X(0) = 0$

show that $P_n(t) = \frac{(\lambda t)^n e^{-\lambda t}}{n!}, \quad n = 0, 1, 2, \dots$ (Poisson process)

Ans: Let $X(t)$ represents the size of the population, $X(0) = 0$ initial condition

$$X(0) = 0 \Rightarrow P_n(0) = \begin{cases} 1, & n = 0 \\ 0, & \text{otherwise} \end{cases}$$

100% probability of being 0 at time 0, and 0% otherwise

$$X(0) = 0 \Rightarrow P_0(0) = 1$$

$$P_n(0) = 0, \quad n = 1, 2, \dots$$

$$(1) \Rightarrow \frac{dP_0(t)}{dt} = -\lambda P_0(t)$$

Separation of Variables (فصل المتغيرات)

$$\frac{dP_0(t)}{P_0(t)} = -\lambda dt$$

and by Integration from 0 to t, we get

$$\int_0^t \frac{dP_0(u)}{P_0(u)} = -\lambda \int_0^t du$$

$$\therefore \left[\ln P_0(u) \right]_0^t = -\lambda t$$

$$\ln P_0(t) - \ln P_0(0) = -\lambda t, \quad P_0(0) = 1$$

$$\therefore \ln P_0(t) - \ln 1 = -\lambda t$$

$$\therefore \ln P_0(t) = -\lambda t \Rightarrow \boxed{P_0(t) = e^{-\lambda t}} \quad (3)$$

الكل هنا على $e^{-\lambda t}$ والآن ننتقل إلى الحالة t في الحالة 0.

$$(2) \Rightarrow \frac{dP_n(t)}{dt} = \lambda P_{n-1}(t) - \lambda P_n(t), \quad n=1, 2, \dots$$

$$\therefore \frac{dP_n(t)}{dt} + \lambda P_n(t) = \lambda P_{n-1}(t)$$

Multiply both sides by $e^{\lambda t}$

$$e^{\lambda t} \left[\frac{dP_n(t)}{dt} + \lambda P_n(t) \right] = \lambda P_{n-1}(t) e^{\lambda t}$$

$$\therefore \frac{d}{dt} \left[e^{\lambda t} P_n(t) \right] = \lambda P_{n-1}(t) e^{\lambda t}$$

تحقق، جيد

$$d \left[e^{\lambda t} P_n(t) \right] = \lambda P_{n-1}(t) e^{\lambda t} dt$$

\therefore By Integration from 0 to t

3

$$\int_0^t d [e^{\lambda x} P_n(x)] = \lambda \int_0^t P_{n-1}(x) e^{\lambda x} dx$$

$$[e^{\lambda x} P_n(x)]_0^t = \lambda \int_0^t P_{n-1}(x) e^{\lambda x} dx$$

$$e^{\lambda t} P_n(t) - \cancel{P_n(0)} = \lambda \int_0^t P_{n-1}(x) e^{\lambda x} dx$$

$$\therefore e^{\lambda t} P_n(t) = \lambda \int_0^t P_{n-1}(x) e^{\lambda x} dx, \quad n=1, 2, \dots$$

$$\therefore P_n(t) = \lambda e^{-\lambda t} \int_0^t P_{n-1}(x) e^{\lambda x} dx, \quad n=1, 2, \dots$$

Recurrence Relation

تكرار العلاقة

(4)

at n=1

$$(4) \Rightarrow P_1(t) = \lambda e^{-\lambda t} \int_0^t P_0(x) e^{\lambda x} dx$$

$$(3) \Rightarrow P_0(x) = e^{-\lambda x}$$

$$\therefore P_1(t) = \lambda e^{-\lambda t} \int_0^t \cancel{e^{-\lambda x}} e^{\lambda x} dx$$

$$P_1(t) = \lambda e^{-\lambda t} \int_0^t dx = \lambda e^{-\lambda t} [x]_0^t$$

$$\therefore P_1(t) = \lambda t e^{-\lambda t}$$

(5)

4
at $n=2$

$$(4) \Rightarrow P_2(t) = \lambda e^{-\lambda t} \int_0^t P_1(x) e^{\lambda x} dx$$

$$(5) \Rightarrow P_1(x) = \lambda x e^{-\lambda x}$$

$$\therefore P_2(t) = \lambda e^{-\lambda t} \int_0^t \lambda x e^{-\lambda x} e^{\lambda x} dx$$

$$P_2(t) = \lambda^2 e^{-\lambda t} \int_0^t x dx$$

$$P_2(t) = \lambda^2 e^{-\lambda t} \left[\frac{x^2}{2} \right]_0^t$$

$$P_2(t) = \lambda^2 e^{-\lambda t} \left(\frac{t^2}{2} \right)$$

$$\therefore P_2(t) = \frac{(\lambda t)^2 e^{-\lambda t}}{2!}$$

(6)

From (3), (5) and (6) we deduce that

$$P_n(t) = \frac{(\lambda t)^n e^{-\lambda t}}{n!}$$

, $n = 0, 1, 2, \dots$

||